2 4 -6 66 2 4 66
4 8 —9|14| B22RL 190 0 32| BRY 00 0 32
2 4 3| 8 2 4 3|8 00 3|2

2 4 66

BR1oo 3|2

00 00
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N BN

S~ 00

—6 2 4 —6]6 2 4 —6]6
—o 14| FE2RL g 0 32| B=RL o 0 32
3| 8 2 4 -3|8 00 3|2

2 4 —-6]6] Echelon Form
' 8 8 312| but not

Reduced Echelon Form
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Echelon Form 
but not
Reduced Echelon Form


2 4 —6| 6
4 8 —9| 14| 2222,
2 4 -3| 8
R3—R2
—_—
Pivots
LR1  and

2
0
2

4
0
4

4
0

—61|6
3(12
-31/8

66
(3) 2
0|0

R3—R1
e

R1+2R2
L
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4 —66
0 3|2
0 3|2
4 0|10
0 3| 2
0 0| O
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Pivots


Find the general solutions of the system whose augmented matrix is

N
W N =
N ==
o1 W N

T. Ratliff (Wheaton College)
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Let u=(2,1,1) and v = (5,1, -2)

1. (a) Does b = (—14,—1,11) lie in Span{u,v}?
(b) What does this tell you about the lines

2x +by =—-14, x+4+y=-1, and
2. (a) Does b =(13,8,—42) lie in Span{u,v}?

(b) What does this tell you about the lines

2x+5y =13, x+y=8, and

T. Ratliff (Wheaton College) Math 221 Linear Algebra

x —2y =117

x — 2y = —427
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